OO0 I00000 swy2s 2015 (oo O)

e« 0000000000000 O0DO0000O0O0DO000
e [3]-(4), [4]-(3), [4-(4) D0O00O0O0D0D0O00O0OO

1 0GO000000000 10000000 00000ooooo
() GOO00 n000D000D00000 aeGOO0O0O «"=10000
(2) GO0O0O0O0O00O0G,beGOOODO @, bODODODODODODODO s,t000

Ub000ebOO0OO0O stOODOO

20 ROODOOODOOSOO0O0O0O0OO0OO00O0Ooooooooooood
(1) PO ROODOODDODODOOOPNSO SOODOOOOOOODOOODOOO
(2) MO ROODODODDOOODODOOOOOMNSO SOOO0OOOOOOO

bbb ogbobboodaobo

3] 0000000000000000000
(1) X°+5X+90 (zZ/5Z)[X]00000000000000000000O0
(2) ZX]0OOO X°+5X+9000000000000000
(3) QX]0DDOD I=(X2-X,X24+2X—-3)00000/7=(f(X))0O

00000000000 f(X)eQ[X]00O000

(4) Z[X]0O00O0OO0 J=(X2-X,X2+2X)00000(3X)CJcC(X)

gboboobuoobobboboboJsooboobooboobon

4 0000 mOD0O0OO0O000 Ry, ={a+b/~mla,becZ} 00000 O
0Doo0o0o0o000

(1)

(
(
(

2
3
4

)
)
)

R,/O R UO0D0OD0ODOODOOODOO
Rs0000020000000000000
Rs000000000 (2,1++/-500000000000000
R; 000005 000000000000ODOO



